PART -1
(English Language)

mﬁ"::((‘?b 11‘0?. E-1 to E-5) : Read the
that f(\ll(;\v. ¢lowand answer the questions
S‘;} l(;i\td fiower. One must try to become like
= VEr - open, frank, equal, generous and
<ind. So you know what it means ? A flo
ISopen to aM_t_§urrognds it : nature, light,
EhewtheEp‘nlﬁtﬁé wind etc. It exerts a
SPontaneous influence on all that is around
1t: It radiates joy and beauty. It is frank. It
hides nothing of its beauty lets its fragrance
flow frankly out of itself. What is within
and what is in its depths, it lets it come out
SO that everyone can see it. It is equal : it
has no preferences. Everyone can enjoy its
beauty and its perfume without rivalry. It is
€qual and the same for everybody. There is
no difference or anything whatsoever. Then
generous without reserve or restriction, it
gives away the mysterious beauty and the
very own perfume of nature. It sacrifices
itself entirely for our pleasure, even its life
sacrifices to express this beauty and the
secret of the things gathered within itself.
And then, kind : it has such a tenderness,
it is so sweet, so close to us, so loving.
Its presence fills us with joy. It is always
cheerful and happy. Happy is he who can
exchange his qualities with real qualities of
the flowers. :

E-1. A flower is open to all because
(A) It spreads its beauty to all
(B) It radiates joy ¢
() It influences all
(D) More than one of the above
(E) None of the above

E-2. The author here talks about
‘,(A)/fi;y flower on
(B) Lotus flower E_yé%
(C) Rose flower ak
(D) More than one of the above

(E) None of the aboye

11/MIV/M-2024-05/L

E-3. A flower is compared

With girls ' .
((g; Wwith human belf}gs 7@‘," 5
With all living things B
(D) More than one of the above

(E) None of the above

E-4. A spontaneous influence means
(A) A quicker influence

B) A slow influence
e Naturally created influence

(D) More than one of the above
(E) None of the above

E-5. The refined qualities of a flower are
(A) Frankness and honesty "
(B) Generosity and kindness '.;...“‘,1}
Fragrance and beauty — [E#¢¥:
(D) More than one of the above
(E) None of the above

Directions (Q. Nos. E-6 and E-7) : Fill in

the blanks with suitable articles like ‘a’, ‘an’
and ‘the’:

E-6. He saw
(A) the
an
€) a
(D) More than one of the above
(E) None of the above

elephant at the Zoo.

good education is important.
(A) The

(B) An
ey A

(D) More than one of the ghove

(E) None of the above

E-8. If21 March is Wednesday, what will

be 25" March ? @
Sunday = l't
(B) Friday

(C) Thursday
(D) More than one of the above
(E) None of the above




% ST e T e 2 2 1 e e
8 T T2 weh vl ke 2 |
Wm%@maﬁw&?&ﬁt@ﬁmﬁ
H | 9 ifeufaat &1 e dn, aidRf
SEht el Bt 2 | v ol swew e weie
& & 1% 7% & A oo AR wwe oA 2 |

H-9..ﬁﬁa31?fﬁm€qﬁﬁwaﬁam
TR ?

(A) TE SETGH & Bl HN THA BT 2

Ry

(B) & T A FH N g B I
U2y T8 4 | Hehe hT U H B

(D) I ¥ F

(E) ST 4 g T
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T g ?

By 3meR o fer

(B) wiferg & fer

(©) fazm & fow

(D) 374w B & TF § AUH
(E) 394w ¥ & 3 T&1

. H-11. ey =afaa forad ameen waar 2

(A) Sm 4

(B) TGHEER |

AT e

(D) I« § & s g 3R
(E) ST 7 & B 78

H-12. | svedfong o= 8 8 -

4

AT e Sl A e

(B) maﬂ%mmé@w
(C) 3Test == 1 7+ Tt
(D) ITH & 0 A arfers
(B) ST 8 & ¢

H-13. SR TR 1 39 Sfifep 2
(A) ey =

(B WeHH
(C) HHIreTaT

(D) 3w ¥ A % § arfers
(E) 3T H ¥ #1878

EyE

OFaE

[ P.T.O.

-




e
=8
‘Tﬂim-z

Waﬁ‘aﬂ?@—@ﬁm%mmﬁ
%Wﬁwmm%ﬁfﬂ%aﬁaﬁ o

ST 1 9fet 61 i 2 | e e
m@ﬁéwﬁmmﬁmmm
& | S S T
Wmﬁmﬁ{ﬁmﬁﬁﬁaﬁr{ﬁm
(RRfRe) S 2 1 fer 1 v a0 2 e

H-14. @&g &1 T8I ?
A =M
(B) 3fwfy
(C) Wifes wem .
(D) IRF F & & ¥ 3rferes
(E) I & & ¢ 7

H-15. W& HfF &1 dao g
(A) THTH T o
By STeREam
(C) 3UR Huel
(D) 3Iwdw ¥ ¥ wh A JAfrh
(E) 3 # § HIg &l

H-16. fordt =afaa &1 fomm form @ anfya € ¢
(B) wHfem e
(C) e
(D) 3w ¥ & U ¥ aNfare
(B) 3w | § I3 T8
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H-17. aﬁ«%wwmi
() et fafd @ﬂ}:?
) s i B
oy i g
D) v A A T AE
(E) 39 & & HIE Tl

H-18. fifir ol & gt & 1 7 2
(A) o T &
BT =t i e
(C) 9iER i &

(B 3T H | U @ A
(E) ITF & & r$ T

H-19. fosmo 2
Prgsicol
(B) Staa
(C) Hadar
(D) I & § 0% ¥ arfers
(B) SHF 8 & B 7 Eym

T
H-20. wmger § gy R

[T
Ty

(B) HuuRy

(C) e

(D) ST & & T § arfires
(B) o & & g

H-21. Y€ 9/
My T e |
B wAd FER
p TSI T T gy i =fey |
(D) 3T § & s § arfre
(E) Swfw & & % 7




U PR

&
B W o . EYE

Tl
(B) A= s e

(C) w3=@ =

(D) IR # A v & st

() SRiw # &+ 75
H-23. ‘H’H@’Wﬁqﬂmﬁm%‘

(A) ’

BT femm

(©) gg@

(D) Wﬁﬁmam

(E) Wﬁ@ﬁém

H-24. @ wig 2
e
B) it
(C) WIRMEER
(D) 3TdF H ¥ TH & fus
E) wﬂwﬁ@aﬁé?ﬁ Q_;E'

H.25. T@H I &

/w/ EEA
(B) T
(€

(D) 3‘3@?}?{ -k T ¥ R
(£) 9 & IS 7
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H-26. ST # $HH-71 398 & 7
(A) 3F
(B) &

Ae] 3
(D) 3w § | T & Al
(B) vwfem & & #é 7 E5E

-

H-27. WgaT=e 31 2

AAT T
(B) 3mfag
(C) Fad
(D) 394 ¥ | U ¥ e

(E) 3o o | ¢ T

H-28. Y[g ¥ ?
(A) 3FHHR

48] T

(C) IR
(D) 3T ¥ ¥ T & e
(E) 39 H & 1 T

H-29. % s # wH-8f gfr R 7
(A) =ISH |fY EXE
B) foret wfy e
,(C)/F:Rﬁﬁl
(D) ST # & wh ¥ Al
(E) 3TH # & hlE T
H-30. ‘SEwF § Td 2
(A) IH
(B) ¥
(&Y IH
(D) 39w H § TH § 3ok
(E) e o @ IS TRl

[ P.T.O.
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31.

32.

33.

PART - 1I

(GENERAL STUDIES)
34. Ghatshila of Jharkhand is famous

Which of the following organs control
body balance ? 0

(A) Cerebellum ’*",}
(B) Ribs

(C) Ear

(D) More than one of the above

(E) None of the above

1 3x ‘
If [g) =0.008, then the value of

(0.25)% is

(A) 4.0

(B) 1.0

(C) 0.25

(D) More than one of the above
(E) None of the above EI;'%

The Ministry of Science and
Technology recently announced a
new set of National Awards in the
field of Science, Technology and
Innovation known as ‘Rashtriya
Vigyan Puraskar’, for which the
award ceremony for all categories of
awards will be held every year on

(4) 23™ August - National Space Day

B) 11 May — National Technology
Day

(C) 28" February - National Science
Day

(D) More than one of the above

(E) None of the above
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35.

36.

for which mineral production ?

(A) Mica

(B) Bauxite

(C) Copper

(D) More than one of the above
=2[E]

O

(E) None of the above

The ratio of two numbers is 14 : 25.
If the difference between them is 264,

then the smaller of the two numbers is
(A) 336

(B) 317

(C) 282
(D) More than one of the above

(E) None of the above

Which river makes boundary between

India and Nepal ? _[:]ﬁ;?
(A) Kosi

(B) Gandak

(C) Kali

(D) More than one of the above

(E) None of the above




o
PART - 1I
(GENERAL STUDIES)

31. = o v & wR-T0 o WR F W 4 mwmm@mm*

%! e s R 2 Ef@ fore witg 8 7
4A) WEem El‘-zr
(B) et s
(C) M (B) ®iedTse
(D) I # & Th A Al o
() 3T H | i T
5 (D) I & T & AU
1
32. aﬁ(g)oggooosa ?h(,ggf) & . ¢ 3t
R S1e0(4,
(A) 4.0 o N
(B) 1.0 35. aawaﬁwagqm14:2§§laﬁ ‘
4ey0.25 e @1 W 264 3, eha‘rrﬁawﬁfﬁﬁ
(D) T A @ e j;?“/:j% Qéq <l\¢\/
(E) 3T B & PR T e B
33, g 3l Shenfichl wweE 3 Fe @ H (€) 282 %

Wﬁ%@wﬁzﬁmﬁﬁ'@ (D) SWfa § & T ¥ A
mwmﬁwmﬁﬁm 36. @t T W@ 3R A F A

A A & ? o0

(A) 23 T - T Fane femw & fed M/m [

(B) 117 - T daifh fomm & fa B) T

(©) 28 T - T forgm feaw = & (©) el

(D) W § | TH H AUH E:-;:s_a (D) T H & T H IAfH

(B) ST H A w1 T (E) I § | HIS T
11/MIV/M-2024-05/L 15 [P.T.O.
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37.

38.
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In Which year was the African

Convention for the Conservation of
Natural Resources held ?

39.

o
O

(A) 1960

(B) 1980

(C) 1999

(D) 1968

40.
(E) None of the above

What wag the electora] Symbol

that was restored to Imran Khan’s

Pakistan Tehreek-e-Insaf party by a

ruling of the Peshawar High Coyrt

against the decision of the Country’s

election commission in J anuary 2024 ?
E¥E

E-“h‘g
(A) Cricket ‘Ball’ =

41.

(B) Crescent Moon

(C) Cricket ‘Bat’

(D) More than one of the above
(E) Noﬁe of the above

16

What is India’s position in the

' Worly
on the basis of per capita Water
availability per year ? @}1}@

h El"ﬂ
(A) 100"
(B) 140t
(©) 1334
(D) 123"

(E) None of the above

| Ifx4+y4=17andx+y= 1, then the

value of x2y2 - 2xy is
(A) 12
B) 8

) 4

(D) More than one of the abovye

(E) None of the above

Who threw harmless bombs in the
Centra] Legislative Assembly ?

iy
(A) Jatin Das b
(B) Batukeshwar Dutt

(©) Chandrashekhar Azad

(D) More than one of the above

(E) None of the above




-

37. Wifow gEwEl F waw & fow sk
Tie feg ad amafoa feman man e 2

EYE
Tl
(A) 1960 [E1RT
(B) 1980
(C) 1990
/«D)/ 1968
(E) 35w & & H13 T

38. SHa 2024 F 39 % TG RN H HEd
¥ RaclTP TR 350 TR F Th Hadt
2 S @M % TIRRE Tadieh-T-3H1h
qiéf Hl FE R T g St w0
qT ?

() Topehe wTer’
(B) TYHE TEAT
(or fepohe AT

(D) 39 & 8 TH ¥ e
=
(E) 3F & @ H18 T e
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8218959

39. ¥ safen sfy @ et ererl & AT
T W 7 fva § wA-a = 2 7

(A 100 & %ﬂﬁ
(B) 140af

(C) 1333af

(D) 123af

(E) 39 § & H13 T

'<’T&x4+y4=17?79411("’}’=lﬁ’?ﬁ

x2y2—2xquﬂ% {92 % 1> &
x c 1
A) 12 J(gga 234 N3
(B) 8 )\}b?
€ 4 -
(D) W | | T ¥ AR
(E) I9dw d & 8
41, ¥ faum o & wfnfea a0 e % 7
e
(A) W 2T P
ABY TgHR
(C) TSI AN
(D) I & & TF W Al
(E) Iwdad o &+ T&l
17 [ P.T.O.




43.
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What is manganese used for ?
(A) Matchbox industry

(B) Photography industry
_ OF0)|
(C) Battery production zw

A

(D) More than one of the above

(E) None of the above

Plants appear to bend towards light
due to

46.

(A) Concentration of auxins at shoot
tip
(B) Concentration of auxins at root tip

(C) Diffusion of auxins towards

shady side of shoot
(D) More than one of the above

(E) None of the above

Congress Socialist Party (CSP) was

formed in the year EXE 47.
O
OFE

(A) 1934

(B) 1932

(C) 1930

(D) More than one of the above

(E) None of the above

18

45.

S

Which of the following is true ?

31 17 43 59 8
e & i i &, el I
A 3618 <35 60  H7

31 17 59(43

B 3618 50 <25
17 _31_43 _59
© 1836 75 60

(D) More than one of the above

(E) None of the above

Which of the following represents

non-ohmic resistance ? _@,‘;:%
CF

(A) Copper

(B) Nichrome

(C) Torch Bulb

(D) More than one of the above
(E) None of the above

For what purpose is water used the
most in Indija ?

(A) Domestic

(B) Industries

(C) Irrigation

(D) More than one of the above

(E) None of the above




42, WEls & v wel R s R 7 45, faafafaa o a4 #ya-m ah 2 7 3 )
\) i g Do) 31 17 43 59 % }19{( 60
i OPAE W 5<E<75°60 b !
‘ l
(B) BN 3@ ) 31175 43 5 1/6/
ey 2t 36 18 60 45 Ot ’
. 17 _31_43 _59
(D) I9w ¥ A ©F @ Afoh © 1836 “45 60
IRfw o @ IS T
43. THW Hit I N F FHE H A /E,/
F R 46, B i B-a - i SRR
4K R SR AR B A fafaferes e & 7 %’g
Wmaﬁqﬁw (A) e
(C) TRIZ % STEER WA i A HATf H1 ((B)/:ngaﬁn
ferm L
. EE (C) o wed
(D) 39 B & T & Al - .
: . (D) SWgF # § Th & Hfrh
(E) 7% & ¥ HIE T8
(E) 30w d ¥ % T
a4, WWM(W)WW 47. W@ 1 g 1 Tatte 3R Ry
fraignay % forg o ST 2 7 2
Ry
(A) 1934 A R
AT 1932 (B) 3
(C) 1930 K{ﬁ;ﬂ—g
(D) I74F H 8w ¥ AH (D) Iwe & & U § A
() 3w # & H1 T (E) 35w # & H1S T
1 1/MIV/M—2024—05/L 19 [ P.T.O.




48.

49.

11/MIV/M-2024-05/L

50.

Which one of the following is not a 51.
colloid ? (=] [=]
Teliw
OFatE
(A) Vinegar
(B) Blood
(C) Smoke
(D) More than one of the above
(E) None of the above
52.
Which city was recently declared as
the tourism capital of the Country by
the government of Nepal ?
(A) Pokhara
(B) Kathmandu
(C) Lumbini
(D) More than one of the above
(E) None of the above 53.

In how many years will ¥ 7,500 double
at 8% simple interest ?

2! [a]
(A) 16 years g‘%}?
(B) 12.5 years
(C) 10 years
(D) More than one of the above
(E) None of the above

20

Asiatic Society of Bengal was
founded by

(A) Sir William Bentinck

(B) Sir William Jones

(C) Sir James Todd

(D) More than one of the above

(E) None of the above -@.?g
CFse

Where has the Gharial Breeding

Center been established in India ?

(A) Corbett (Uttarakhand)

(B) Sundarbans (W.B.)

(C) Morena (M.P.)

(D) More than one of the above
oo

(E) None of the above EEI‘:;!“:’}?

Which of the following oxides is

soluble in water ?

" (A) FeO
(B) CaO
(C) ZnO
(D) More than one of the above

(E) None of the above




-

48. foa ¥ @-wm wems @ R 7 s1. et dmd witn ame H
A o g.g e qama 1 é o 7
(A) @ faferam sifés
. By @ faferm <
ACY w3 (C) W I T[S
(D) 0w # & T @ 7fer (D) 37 & & TF @ AP
(£) 3o & & 1§ T

() 3vd% & & i T
49. T & A I THR g forE W H W Y gﬁ@

1 wieq goar Miva fom w2
(A) Hiee (ITES)

g |
(B) o (S )

B :

. ‘ (C) q& (A7)

(C) gﬁ:ﬁ“ (D) 9% & | % ¥ A

' Fftep _
(D) SR A A TH A JR T
(E) IdF# & HI13 T&l

53. = TSl # S 9 U o 7 ?

50. fohaa a8l # % 7,500, 8% ATERUN A W

QT & S ? qcoo BB (A) FeO
(A) 1639 Gk a0
ek
/LB')/lz.; 96~V S
C) 10
:D; I | @ T & ot (D) 37 # | T & Afw
(E) Swiw & & #13 TEl B e & E{i@‘
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54.

§S.

56.

Famous for his role during 26/11
Mumbai terrorist attacks,

Dr. Sadanand Date was appointed

as Chief of which one of the following

forces in March 2024 ?

(A) Enforcement Directorate (ED)

(B) Central Reserve Poljce Force

(CRPF)

(C) Border Security Force (BSF)

(D) More than one of the above

(E) None of the above HEHE

Tl

O«

Subhashchandra Bose was President

of Indian Nationa] Congress in the
year/s

(A) 1939
(B) 1938
(C) 1937

(D) More than one of the above
(E) None of the above
Which Country in the world

the first to enshrine
in its Constitution ?

i
(A) Denmark E]‘,E-r’f?
(B) France

©) United Stateg

(D) More than one of the abovye
(E) None of the above
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became
right to abortion

22

R

57. Subramaniam and Naidu donate

58.

59.

some money in a relief fund. The
amount paid by Naidu 18 ¥ 125 mqy,
than that of Subramamam. If the
total money paid by them is ¥ 975,
then the amount of money donateg
by Subramaniam is

EXR
il
(A) %385 e
(B) %425
(€) ¥575

(D) More than one of the above

(E) None of the above

Which one of the following is not
among the four pilots who have been
trained to become astronauts for the

ISRO’s Gaganyaan mission to Space
planned for 2024-25 7

(A) Wing Commander Subhanshu

Shukla

(B) Group Captain Ajit Krishnan

(©) Group Captain P.B. Nair

(D) More than one of the above
[m2!
Frag

-

(E) None of the above

More than one of the above

None of the above




54. 26/11 §a¢ HTGHATE EAA & QA
Fh P ¥ fore sfrg, . werE a@ A
are 2024 # frfeea # & fore a1 %
TIE % ¥ 8 frgw frm e ¢

(&) weaq frewmer (3€h)

By et fod giem vt (ehamcdies)
" ey e g ww (dow) %}%

(D) 3Ww ¥ & UH ¥ AR

(E) 3w & & s T

55. guwEg 919 feu 9 wRdE U HEE
& AT Y ?

() 1939

By 1938
(C) 1937
RTINS G
(E) 374 HH B T

s6. oy a1 2 3T G i M
SRR AT HE aTel TEe o T 7

i -

(B) &

(C) EIR TSA I

(D) I7YH B W TH @ Alwh

(E) 30w 4 | B T&I
11/MIV/M-2024-05/L
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57.

58.

59.

7
(495~ .
mﬁmﬁmﬁﬂﬁ@@
o f | Trg g @ afn g
g & T @ 3 125 e R | 3t

mmmaﬁﬁmﬁrzws%,ﬁ’f
D EwE

gwmarrmﬁﬂé%

(A) T 385 2 5 o
% 425

(C) T575

(D) 394 § @ T & Al

() 3w § § I3 TR

Frfofad § @ F9-a1 3 =R TR A
F 78 2 R 2024-25 % fAQ FASETSS
st # g0 % AR BeA % fT
it A & 3 forg iR R IR 7

fom e g s
(A) U AT T
(B) JU A A FIME

€T T e Rl TR

(D) S | ¥ TH § IAlH

(E) 3§ & & i T

AR TR § weifen gt &1 wogmro
i B

(A) W

(py

(C) Ipd

(D) 3w § & TF 4 3ifreh
(E) 3Iwdad & & B3 T

[ P.T.O.
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60.

61.

62.

.’>

f\ : \
E) No
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National Library of India started its

journey with the opening of

(A) Caleutta Public Library in
March 1838

(B) Calcutta Public Library in
March 1837

(C) Calcutta Public Library in
March 1836

(D) More than one of the above

(E) None of the above EE‘E

Lol E
Eln?.‘.fi's”-d

Which of the following is true about
respiration ?

(A) Energy is not released at all

(B) Energy is released and stored in
form of ADP

() Energy is released and stored in
form of ATP

(D) More than one of the above

(E) None of the above

The formation of Simon Commission

_ "
was announced on .{@_&E’

o BT
(A) 8™ November 1929

(B) gth November 1928
(C) 8™ December 1927

(D) :More thaﬁ%n\e of the above

ne of the above

\

-

63. The value of (0.03125) % is [EVf

24

N

2

77
A) 9

(B) 6

(C) 4

(D) More than one of the above
(E) None of the above

Bihar Diwas is celebrated on

to

(A) On March 22 to commemorate
its separation form the Calcutta
Presidency

(B) On March 22 to commemorate

its separation form the Bengal
Presidency

(C) On March 22 to commemorate
its separation form the Mughal

Presidency EE
2

(D) More than one of the above

(E) None of the above




60. WRA & U Graawrer 3 R arn fhas
IR & "y yE A 7

(A) Wid 1838 § Faswdl yfeTs At
(B) W 1837 N wethan yfes gl
€T W 1836 ¥ ey amERd
D) IR A A v } s By

Bpia
(E) I9d A | g &

61. o™ Uishan & fou f= d s-a1 e
TR ?

(A) Sl HH \Tfaa & B B

4B T wfem &l & @ ADP % w9 3

wogTid &l 8

(©) St Grfeg gt & 99T ATP % &9 §

woeTia it @
(D) S # & T § Aferw
(B) S A @ H1E T

62. TEHT FHTH ¥ TS I 0 e H T

oft 7

(A) 8TEST 1929
(B) 8T 1928 mm
oy T 1927 EE
(D) 9T o & TH |
(E) g # & T
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2
63. (0.03125)° ®1 °M B

oho)
BT
(A) 9
Bl
B) 6 b 4
|'§5,D
© 4 b2 ¢
514
s
D) S A
91
Wﬁ@tﬂﬁi%ﬁf
64. R fmw_ w S @ |

(A) 22 TTH I Herhal SESH! | AT

B & T | EXE
ST
(5] 20 W B wer YR A s A
% YA |

(C) 22 T I T SESHt F FHem am
i o |

(D) 3T H § T § A

() S & & I T

[ P.T.O.
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60.

61.

62.

WA & s e A vl an e
IR & "Ny A 7

(A) WTd 1838 ¥ Feewa ufets s
(B) Wre 1837 A wethan ufeTs wmEad

ey W= 1836 ¥ et qfeerh arEd

E1' =)
s

-

(D) Idw ® ¥ Uh § A
(E) 39 § A B3 7

v g gisean & o f= § - weA
IR ?

(A) el et arferd T At B

By Ft wifad St & e ADP % w9 §
wosTi Bt 3

(©) wwﬁm‘gﬁ?ﬁ%WATPgﬁmﬁ
wogTia it 3

(D) I H & TH Y AH
(E) :ﬂﬁaﬁﬁ@aﬁéﬁ

e e 3 T i A w4 A
7
(A) 8 T 1929

(B) 8TdeR 1928 o

ey

(o8 feE 1927 EE
(D) T B T
(E) I 4 ¥ 1S T
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63.
0[540]
47
(A) 9 e
9'-‘12
B) 6 %
587
© 4 b2
512
ey
(D) Wﬁﬁﬂ%%
9
Wﬁﬁaﬁé?ﬁ
64. ﬁg‘r{ﬁa‘{-[_____mm%l

(A) 22 HTE I bl JHSH F A

A % vuere 3 o
D8
(5] 227 H wer AR A s A

&+ 9Ly |

(C) 22 T i T YEHEH ¥ e 2R
i wfa §

(D) I9dFa & & TH ¥ Al

() Iogw & & é T
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66.

67.

Who was tonferred the Dadasaheb
Phalke Award 2023 for lifetime
contribution to cinema ?

(A) Asha Parekh

(B) Dilip Kumar (Posthumously)

(C) Waheeda Rehman

(D) More'than one of the above

(E) None'of the above gﬁfr@
e

Where is'the UN Climate Change

Conference 2024 scheduled to be
held in November 2024 ?

(A) Dubai-UAE

(B) Baku-Azerbaijan

©) Shah;;iel-Sheikh-Egypt
(D) Mox.':e;t:han one of the above

(E) None of the above

A room 1s.8 meters long, 6 meters wide
and 10 meters high, then the length

of the longest pole that can be placed
in the room is E]‘*'El

(A) 126 meters
(B) 12 meters
1 O\/-Q_‘ meters

(D) More than one of the above

(E) None of the above

11/MIV/M-2024-05/L
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68. Where are more favorable conditiong

69.

70.

found in India for tidal and wave
energy production ?

(A) Mannar bay
(B) Gulf of Kutch
(C) Ganga river
(D) Khambhat bay

(E) None of the above

Lamps used in street lighting are

connected in _‘EEIEE
| EE

(A) Both series and parallel

(B) Series

(C) Parallel

(D) More than one of the above

(E) None of the above

Under the Government of India
Act 1935, who was the first elected
Chairman of Bihar Legislative
Council ?

(A) Rai Bahadur Satish Chandra
(B) Rajiv Ranjan Sinha E%g
[ET
(C) Rajendra Prasad

(D) More than one of the above

(E) None of the above
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65. faam ¥ amflam aveR & fore eemaEe
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(A) TN IR e
(B) foefie A (srwiria)
AC) T @

(D) 3w & § = A I

(E) 34w & ¥ i 78

66. TES 2024 § HYF U a1y IREdd
GEITH 2024 FE SR 8N o1l B 7

() TR
By - ATEH
(C) sﬁa—sﬁ@—ﬁa
(D) 39w & ¥ TH 4 Alw®
(B) I & & 18 T

68. WA i i va A %Al IeneA F o
sHfirh st afifeafert wwf arg A # 7

o
(A) TAR @l EM%
(B) F=5 Hl @El
(C) T A&
(/Dy/@nm@'sﬁ
(E) 39da & &+ TR

~ 6h,) wew s # I 3 T o

SIS

(A) 2l Aoft qUT GHHR A |
By 3ot shu |

(C) MR %9 |

(D) 3WF H ¥ T ¥ M
(E) ST & & HIS Tl

70. WA WHR AW 1935 F q8a faen

67. Th msrﬁa &, 6 et Her 3k e it <6 srerm faifed avmfa i & o
10 MeX FTR, @ H A T S b a1 . Em
wad o @ i e 3 @y () T FETR HA 5 e
@) 1267 i £ T T R

o
et .
) 10J/2Hi X 1 e
(D) WA & TH & Al (D) 3o & A T W Ao
(E) mﬁﬂﬁﬁﬁﬁs‘qﬁ W (E) I # @ HE T
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71.

72.

73.

PART - 111

(MATHEMATICS ).

Find the market price of 5% Rs. 100
share when a person gets a dividend
of Rs. 65 by investing Rs. 1,430.

[=]&![a]
(A) 150 T
T
(B) 160
(C) 120
(D) 130

(E) None of these

A tank is made of the shape of

a cylinder with a hemispherical
depression at one end. The height of
the cylinder is 1.45 m and radius is
30 cm. The total surface area of the
tank is

(A) 30 m?

(B) 3300 m?

(©) 30.3 m?

(D) 3.3 m?

(E) None of these

The length of the hypotenuse of an

isosceles right triangle whose one side
is 42 cm is ‘

E[E
(A) 12 cm Eﬁ%
(B) 12y2cm
(C) 8V2 cm
(D) 7cm
(E) None of these
1 1/MIV/M-2024-05/L
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74. If one zero of the quadratic pOIY“Omiaj

75.

x? + 3x + k is 2, then the value of k i

40
) 10 izt
(B) -5
©€) 5
(D) -10

(E) None of these

In an equilateral triangle ABC, AD
perpendicular to BC, then which of
(=]

=iy
mEE

the following is true ?

(A) 2 AB? = 3 AD?

(B) 3 AB?=2 AD2

(C) 3 AB? =4 AD?

(D) 4 AB? = 3 AD?

(E) None of these




141 2
Sy 3 y4)
& % L
PART - III 0 a2,
(MATHEMATICS) %
71. 100 ¥ & 5% AR Y& F1d A 74. afy fum wETg x% + 3x ¥ R Th
wafs frd safds ) 1,430 s fdw 2%, A kFTAA R e
FA W 65 T & Aviv firerar R | B
S i 10 x2+ 32 +
(A) 150 OFR0)
(B) 160 i g 2 gal
T (B) -5 gyatd
(C) 120 /d\? 33/,,&
By 130 ‘ 275
(B) SHAFE T ¢
(D) -10
@ T 3 T fUciet & 3R &1 o471 3
oo T R W T AR TgeT | (E) 378 @ Ig 7@
S S S 1.45 m IR B
30 cm & I?asa?rwmém%
(A) 30 m? 75. THSTg PIMS ABC # AD, BC W T ed
(B) 3300 m? / ?u‘mo R A feffea d A F-T e 8 ?
El""
(6)-30.3 m? T E?.'*f
) _ 2
(D) 3.3m° g)‘???‘ ,4:;‘/4&: W8y AB? = 3 AD
(E) 30 & I3 T8l =3 5

(B) 3 AB? = 2 AD?

73. @W@WW‘:@@W
42 cm 2 37T i Y =T 8 @u@

(A) 12 cm s § 56 Er'%b‘?" \&f" () 3AB?=4AD?
:y
(B) 12V/2cm
(C) 82 cm (D) 4 AB? =3 AD”
(D) 7 cm
. (E) T8 § I8 TE
(E) 3 & *Ig & ’
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77.

78.

11/M}V/M-2024—05/L

«(E) None of these

I —

If the difference between the
circumference and radius of a circle
18 37¢m, then using n = 2%, the

circumference of circle is Elb'l%l.
B

(A) 154

(B) 7

< 14 ]

(D) 44

(E) None of these

The sum of the exponents of the prime

factors in the prime factor"sat1on of
196 is

A) 1

(B) 6

€ 4

(D) 2

f

If I'1 times the 11™ term of‘an A.P.is

equal to 7 times its 7 term, then its
rd

"18™ term will be

ok
™ 7 EE
B) 0
§ (C) 18 (
(D) 11

(E) None of these

30

79.

80.

81.

}

- not hit the boundary.

Sides of two similar triangleg are i,
the ratio 4 : 9. Areas of these tnangl
are in the ratio

(A) 2:3

(B) 16: 81

(C) 81:16

D) 4:9

(E) None of these

If (m)" = 32 where m and n are positive

integers, then the value of (n)mn i

(B) 525
©) 51
(D) 25
(E) None of these

z

In a cricket match, a batsman hits the
boundary 8 times out of 40 balls he
plays. Find the probability that he did

o
_EEI‘_HE
E]'}

¥
®) s
© 5/

yS

(E) None of these

- e

-
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( ) QROST =37 oy 168y ';
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B) 7 bl B | 2
= = 392X L) 81 16
! 3 LR (4
) 14 n- D) 4:9
Ky ~ - €YV 8
159 ,«‘DKH 292 .3 15% (E) 38 @ %1 78 ‘
! . ?%’.Aq Ve (D)
E) =8 3 o 3 :

m 80. uﬁ(m)“=3zaﬁmaétﬁum
TR, & (o)™ 1 77 3 EL

(A) 32 e
(B) 525
Mo
(D) 25
(E) ¥ & %1 38
81. T e &g 4,
. . 8 SR SIS e ® | SIS |1
78. I et murm AL $ 11 S W 11 N wifrwar Frfad |
T 38F 79 92 F 7 6 9UK 2, @
ES1 18 @1 9g B CHee %
B
(A) 7 ” +3 3 B) 5
Bro © 34
(C) 18 \
(D)
(D) 11
((E) 398 & =18 T8 (E)
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76. R fodt gu & uitfa sl fsn & s

79. @ auEn By 6 g # s 4 -0

H1 JAWR 37cm 8, @ r =22/ % wan R | 3 Bl w1 @Ewe s o 3
], ga & qfify B %ﬂ@ A) 2:3 /A A
(A) 154 ORPFB =27 By 16: 81 a  J
B) 7 = 9?77:,5_ (C) 81:16
(©) 14 3 2 55 2

1$4 (E) 370 & $18 T8

: Ry =
)54 /@KM K2 A2 )1
(E) 30 @ $I 7 z;?{“

77. 196 % JAYSY UHGE ¥ 3

78, afe Fedt AR A0 B 11 3 9 H 11
T 3HF 7 3 Ug % 7 A o FER E, @

34U 18 9 WG &Il Ejg
(=]

(A) 7

P’/O

(C) 18

[ 3 ¢

(D) 11

/(E) 39 & WIg T8I
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80. IR (m)” = 32 W&l m 3N n ¥ATHS
TH R, @ (T H A ERE

OFs2
(A) 32
Q‘S’
B) 5%° _.9%&
/(9)/510 S
(D) 25
(E) 3 | H13 T

81. U fshehe A9 H, U SoiwS 40 g1 § A
8 ST 913! TNET & | ¥1SS A1 o U
61 TTRrepdt e |

% N G
(B) 5
© 5
D) Y
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83.

84.

The radii of bases of a cylinder and a 88.

cone are in the ratio 3 : 4 and their
heights are in the ratio 2 : 3. The ratio
between the volume of cylinder to that
of cone is EYE

(A) 8 . 9 E e Y
B) 7:5
€ 5:7

D) 7:8

86.

(E) None of these

The sum and product of the roots of the

equation 2x% - 5x + 4 = 0 are in ratio
(A) 5:2
(B) 10:7
(C) 10:4

(D) 5:4

87.

(E) None of these

The probability that non-leap year

EYE
B

N'—'

has 53 Sundays is

@ 2
®) %
© ¢

5
D) 57
(E) None of these

11/MIV/M-2024-05/L 32

If the mean of first n natural nump,,,

is 3 then the value of n is

51
(A) 3
(B) 6

() 5

D) 4

(E) None of these

If P is a prime number, then LCM of
P, P and P* is Ohe0
(A) P

(B) P°

@ p° £

D) P

(E) None of these

In a throw of two dice, the probability
of getting a sum of 10 is EE

“ Yy

B Y,
© %

D) Yie

(E) None of these
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83. m2x2—5x+4=0a€ﬁw?ﬂ"1 (A) P
3R LR -
NAERISRCCEI] k b JB7/P6
(A 5:2 [ AniAthd
_ R §P:$
B) 10:7 4¢ X D) P2
(C) 10:4 5.4 (E) 398 ¥ +I3 &
(£
/(rD'(S:4
(E) o & B T ; 87. T U Wl HHA WA 10 I H
ke %ﬂ;%
84, —cf ad # 53 WA & A W } /Wy Y 4 o
@El% 12 53’
2 L R
& % ? . ® Y b Y
® Y 368
© %
5% © 6/7 D y
2 5 36
w5 |
Jpr v & S:_;B (E) 37 @ 15 T&l
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89.

The area of the circle that can be
inscribed in a square of side 10 cm is

k" E ‘\l

i

(A) 100m cm?
(B) 25r cm?
(C) 150% cm?

(D) 30m cm? ~

(E) None of these

at C, then the

[
'{--..4,;5

D) 1

il g
ol

(E) None of these ¢

o
u
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91.

92.

S

90. sin (45° + 8) - cos (45° - 6) is equy £

(A) 2 cosec

(B) 1

-(C) sin 6

(D) 0

(E) None of these

If the line segment is divided in the
ratio 3 : 7, then how many parts does
it contain while constructing the point
EIE"EI

G

of division ?

(a) 3

‘®) 10

Q) 4

(D) 7

(E) None of these

If tan A = cot (30° + A), then A =

| B
&) 45° E;g'f
(B) 60°
(C) 135°

(D) 30°

(E) None of these



88 %‘: wr oy / ;, B &N A T
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iﬁ)' v ‘é’ \§ X
® o F
S Y |
§ 8,
2 A
R
(D) 30mcm® N ‘i
= \ N
] S—S \
(E) T & HI3 T& - AR
\
L ¢l BT T
89. IR AABC, C W GHHIVT 8, T cos (A+B) e \?r' 2
Tﬂm% \ E“' \
& i ©) 4
(e fro) o
%‘p (A) O 'ﬁ (D) 75 ) 3s 9'”'”3‘3311“
E) ¥H Y TS ot (O o,
< E) FEAG Onon :
® ¥% .
92. 2lﬁtanA—cot (3Q°fmﬁ‘\) a&;*;\
f
1 g .
;c)/ Y A4 ¢ = E‘l%
(B) 60° xS (@)
(D) 1 (C) 135°
& (D)
. (D) 30° |
(E) T } HIg T& _
(E) T & 13 T&
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w\ & g
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88. 10cm WA UH M A 3ifdn gy oy 90. " sl (45¢ Wib) © dog @50l gyarrig #.©
Rﬁ aﬁ qﬁ 1 m % @,j‘i:% | 1) M&!Wlﬂ}‘ﬂa‘ﬁ’ﬂlglml{m
- ERE A 250985 8111 01 1nuipo o 2
(A) 100= sz ) 1 9701 91t 1o Joot 5t 1o
21 1907 911
/(81/251tcm2 (©) sin 6 mcl (A)
{0 D) o 001 (4)
C) 150% cm? : .
<€) Tcm .29 < (E) Eﬁ@l?ﬁl’é?ﬁf A (D)
LR e -
(D) 30n cm? ' 2R *SKS
S 7 91. IR TEES B 3 : 7 % 3y § fywfan
S fohan sme < fevr 3
E) T & 5 mﬁiﬁ@%%?ﬁgmmm
X
® 3 ==
89. M AABC, C W HHHM 2, & cos (A+B) o

EaR:ICH A - ErE

n % (D) 7

(A) O
(E) 3 & 8 &

® Y34
92. 3If¢ tan A = cot (30° + A).?h A=

}({ | A | AT a5

(B) 60°
5 1 (C) 135°
o (D) 30°
(E) #4804 %78 3 o v & e
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93.

94.

95.

11/MIV/M-2024-05/L

From the top of  cliff 25 m high, the
Angle of elevation of a tower is found
o be equal 1o the angle of depression
of the foot of the tower. The height of
the tower jg

GHo
i

(A) 25 m Eet

B) 100 m

©) 75m

D) 50 m

(E) None of these

The pair of equation x = aandy=b

graphically reépresenting lines which
are

(A) Coincident

(B) Intersecting at (0, 0)
(C) Parallel

(D) Intersecting at (b, a)

(E) None of these

If point P(x, y) is equidistant from

A(S, 1) and B(-1, 5), then E2m
e
Ofste

(A) Sx=y

(B) 2x=3y

(C) 3x=2y

(D) x=05y

(E) None of these

36

96.

97.

98.

N

If o and p are the roots of the

, : 2
quadratic equation 4x* + 3, 5
)

then u f '; = 7@?@
R
N -1 |
& -3
-3
(B) K
3
© 7
7
(D) 3

(E) None of these

The shadow of a tower is equal to
its height at 10.45 a.m. The sun’s

altitude is @E@
A 30° 7
(B) 90°
(C) 60°
(D) 45°

(E) None of these

For a given data with 50 observations,
the ‘less than ogive’ and the

‘more than ogive’ intersect at (15.5, 20).
The median of the data is

(A) 4.5

(B) 15.5

(C) 50

(D) 20

(E) None of these
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p
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(A) 25 m
B =
(B) 100 m 7
(C) 75 m
/(D) 50 o g
m
- ‘ K
(B) 39 & ¥ & -
(D) 3
. gt A = = .
TR T@rat 1 fafite s @ S 2 ,
e . . 10.45 € TH AT 6| BT IHh!
- < 97. 9@: 10.45 |
(A) : TS & SO 8, g I 3
M, 0) T wieresg - (&) 30°
(C) THHRR (B) 90°
D) (b, a) W fe=dg . (© 007 X
45°
: X
(E) 30 A HE T8 N
| (E) 9 & 15 T8 FourS
95. If2 g Pix, ), A5, 3R BELS) g5 50 syt amat fon o 2er % g
EECEEUL S A fﬂﬁg (15.5, 20) T AR A H 3R FrOr
)M/5x=y S it afoede w1 & | 24 H AeEE 2
[(=][w]
(B) 2x =3y il B
Ms,s o
(C) 3x =2y 6 &b
(D) x =Sy (D) 20
(E) 70 & g T | (E) T8 q HI3 T8
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99. The area of a sector of a circle with 102.
radius 6 cm if the angle of the sector
18 60 1@4-5.?3
O
(A) 14277
(B) 122/7
(C) 132/7
(D) 152/7
(E) None of these ‘
4
100. A solid right circular coné is cut into  103-
two parts at the middle of its height
by a plane parallel to its base. The
ratio of the volume of smaller cone to
the whole cone is g
(A) 1:2
(B) 1:8 £
©) 1:6
(D) 1:4
(E) None of these 104.
101. (n+ 1)2 — 1 is divisible by 8, ifnis
bl
(A) an odd integer @:b%
R
(B) an integer A
(C) a natural number
(D) an even integer
(E) None of these
11/MIV/M-2024-05/L 3s

A sum of Rs. 10,000 is borrowed
Akshit for 2 years at an interest )
10% compounded annually. Fing N

compound interest and amoyp, N

has to pay at the end of 2 years_

o
12100, 2100 O
(A) 2

(B) 12100, 2200
(C) » 12200, 2200
(D) 12200, 2100
(E) None of these

If a number x is chosen from the
number 1, 2, 3 and a number y js
selected from the numbers 1, 4,9

P(xy <9) is o
then P(xy ) -{‘;1@

(A) 7/9 O
B Y%
© 24
O %

(E) None of these

If PA and PB are tangents to the circle

with centre O such that angle APB = 50°,
then angle OAB =

(A) 25°
(B) s0°
(C) 40°
(D) 30°

(E) NOne of these
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99.

/@;432/7

100.

101.

(wvn\ﬁﬁmlaﬁﬁlﬁﬁifiﬁ;ﬁmwﬁﬁgqn
BAGS 8 AR Brergz & w600 2

(A) 142/7 04D

(B) 122/7

(D) 152/7

(E) T & #1 7&

sék,

X 3

& A W QY W § THh YR % THERR

T GHAA GRI HIeT 1T B | BIE IF &
TR 1 S QNG B AT B I 8

A) 1:2

B) 1:8

(C) 1:6
D) 1:4

(E) 378 & I3 T

(+1)? - 1, 83 Frsa &, afin?
0 B

(A) Qa;ﬁ'limlﬂlﬁa; ) E}-v‘:

(B) TH T

Q) Qa;gﬁfﬁﬁﬁ?ﬁ?ﬂ

(D) TH &H qUTeh

(E) T & HIg &
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102.

: @6 (B) 12100, 2200

RS

103.

104.

wféra gra 10,0008@%"?"23"*#’
e 10% = =mrgfy = T 3T
ot ST ® 1 2 @ % 3@ H IW qTAE

ﬁ»‘mmﬁwmmﬁmﬁ'm
ﬁﬁﬁ:l

[100%2

12100 2100 OP %

]‘Q \GTD
(C) 12200, 2200
(D) 12200, 2100

(E) ¥ & I3 T

aft g x F 1, 2, 35 & T @ 2
3Ry FE W 1, 4,9 F A1 @ E,
P@y<:%,% |jUE]

w7 'EH“
B %

© %

O %

(E) T & HI5 T

Ifé PA 3K PB %< O aT0l 90 W 39
TR Tt W@ @ £ Hor APB = 50° 8,
dl T OAB =

(A) 25°
(B) 50°
(C) 40°
(D) 30°

(E) T & 1S T

[ P.T.O.




o N
B

lares 8 percent g,
108. Ifnisq natural number, then 6" - 5" 108, Acompany dec P tdmd,:nd
always ends with AVE to the shareholders. If a map, TeCeiye,
ok Rs. 2,840 as his dividend, fin, the
A 1 nominal value of his shareg Bug
Al
® 7 « (A) 36500 El#
€ 5 '
(B) 38500
D) 3
(C) 37500
(E) None of these
(D) 33500
106. The graph of y - f(x), where f{x) is (E) None of these
& Quadratic polynomia] meets the
fl_:ms & A(_—2’f0) ?nd. B(=3, 0), then 109. If radii of two concentric circles are
ression
0 SRl Is 4 cmand 5 cm, then the length of each
(A) x%+ 5%+ 6 chord of one circle which is tangent to [
b, 7‘: . . y
B) x®-5x_¢ the other circle is %}%
2 ke (A) 3cm B
(C) x*+5%x-¢ .
> < (B) 1cm
D) x*-5x+6
| (C) 9cm
(E) None of these
(D) 6cm
107. If the perimeter of a circle is equal (E) None of these
to that of a Square, then the ratig of
their area is () [YE  110. If the points A(1, 2), B(0, 0) and
R
A) 22:7 Eéﬂf C(a, b) are collinear, then
=b
(B) 11:14 el &
s (B) a=-b
(C) 7:22
(C) 2a=b
(D) 14:11 O} a=2b
(E) None of these iy (E) None of these
11/MIV/M~-2024-05/L 40
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105. TR n T WiHfaw dew R, @ 6" - 5" 108. [0 @u IrmaTR] F 8 gfawa T

A I W W R Y 33 6 vt w0 2 | Af v sEh H
@A) 1 S 2,840 T3 IGF N9 F F9 H A4
: Brar 2, A Ia% WU 1 FAfRa eI T4
© 3 (A) 36500
(D) 3 (B) 38500
- | 28¢ 1 25
(D) 33500 44
106. y = f(x) 1 T, Sl f(x) T fgumd sgug M—gqﬁgq—éﬁ 40
R, x-318§ T A(-2, 0) 3R B(-3, 0) forera ' %
2, @ fx) % for sfreafa 2 109, af% 3w gt 1 Bt 4 em 3
2 Scm%,?ﬁ@'ﬂﬁ%miﬂmﬁ
#) x"+5x*+6 mﬁ@ﬁaﬁ%{a}qﬂﬁﬂﬁi’@%
(B) x* - 5x- 6“ (A) 3cm | %5'};%
(C) x*+5x-6 - ‘ (B) 1cm
D) x*-5x+ 6 (C) 9cm
(E) aﬁﬁﬁs‘ﬂﬁ (D) 6cm
(E) ¥ & H13 T
lo7. af: fdh g i g @ AT
mg,am‘mma@rﬁ%@ 110. @t g A(L, 2), B(O, 0) 3R Cla, b)
72 = ;
| Fi W@, @ EXE
(a) 22:7 =¥ P ¢ =R
pl (A) a=b
: 14
L (B) a=-b /’)' @ C
(C) 7:22 ich b
D) 14:11 D) a=2b
(E) it 3w T () T & FE T
i [P.T.O
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(SCIENCE )

111. The gap between two neurons is
called as g]‘_%
(A) Axon }:%
(B) Synapse
(C) Dendrite

(D) More than one of the above

(E) None of the above -

112. Food cans are coated wi:t:‘fl“tin and

not with zinc because

(A) zinc is more reactive.than tin

(B) zinc has a higher ifiglting point

than tin
(C) zinc is costlier thm: n
(D) More than one of thejabove

(E) None of the above P

113. According to Newton’s second law of
motion, the accelerationuvof an object
is directly proportional to the
(A) Inverse of the mass of the object

(B) Force acting on the object i
(C) Mass of the object Ei‘ég
(D) More than one of the above

(E) None of the above -

11/MIV/M-2024-05/L 42
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114. The breakdown of pyruvate t, give

115.

116.

carbon dioxide, water and €nergy

takes place in

(A) Mitochondria

(B) Chloroplast

(C) Cytoplasm

(D) More than one of the above

(E) None of the above ,_@}1"@
O«

What is the process of changing a

substance directly from solid to gas
called ?

(A) Sublimation

(B) Evaporation

(C) Melting

(D) More than one of the above

(E) None of the above

The magnetic field lines around a

straight current carrying conductor

ae 1
(A) Parallel lines =

(B) Ellipses
(C) Concentric circles

(D) More than one of the above

(E) None of the above
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(S8CIENCE) "
. C% Lbo e
11, amtm%mwmmgﬁ i gy, O s 2
A) TN @y 7 foru rgEde w1 faeea wen R
(B) F=uium Bt (A) WTEerRif-gal |
ey e AB) TR 3
(D) SWF o ¥ wF } afirss (C) wmEdersd ¥
(E) ST & | %1 T& (D) v & & T § A
W3 (E) 39 § & H13 T
112. Wm%ﬁﬁﬁﬂﬁ@ﬁﬁ‘@%%, 115, fret wqrd 1 e 3w @ A F wEer H
= @ 7 wifs s e 2 7 @m’%
oy o fot <t o arferes e e
L (B) arsdteRTOT
(B) i w1 T o @ wiferss & @ ©) Fae
(©) e for & wem 2 (D) 3T & A T & s
(D) 3T & | T @ AF ) ST § & B T
(E) I9g & & FIE T .
116. T H9 e qETE weth 6 TR AN
113. %%ﬂﬁ%@ﬁﬂqﬁm,m ﬂailq?ﬁﬂmﬁ?ﬁ% E}{"?
g 1 1 0 A e 2 (A) TIRIR @ /
EE
g g Fo B B) I fig
B W M el A -~
(B) 9% an
(C) & T gAHM - A
Ioa A
(D) I B T S ® -
E) v A T (E) 34 8 @ F1E T
[P.T.O.
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117.

118.

119.

11/MIV/M-2024-05/L

Which of the following represents the 120,
correct electronic configuration of
nitrogen ? [w]i'w]

:tﬂl;.";}".‘.
A) 2,8,5 e
B) 2,8,7
€) 2,5
(D) More than one of the above
(E) None of the above
What happens to the gravitational

121.

force between two objects if the

distance between t}ierh is doubled ?
(A) It becomes half

(B) It becomes on;f;urth

(C) It quadruples

(D) More than one of the above

(E) None of the abeve

Which of the following methods is
suitable for prevenﬁég an iron frying
‘ EVE

iy
L

pan from rusting 9 122.
(A) Applying a coating of zinc

(B) Applying paint- -

(©) Applying grease

(D) More than one: ofthe above

(E) None of the above

44

The study of the inheritance of

in humans is called oo
RN o >
OF

(A) Paleontology

(B) Herpetology

(C) Heredity

(D) More than one of the above

(E) None of the above

What is the work to be done to

increase the velocity of a car from
30 km h™! to 60 km h™! if the mass

of the car is 1500 kg ? @Eg
EEY

(A) 156650J

(B) 156250J

(C) 800J

(D) More than one of the above

(E) None of the above

The force required to maintain an

object at a constant velocity is
(A) Net force

(B) Frictional force

(C) Gravitational force

(D) More than one of the above

(E) None of the above
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117. mﬁﬁm-mm@m%w
wWRS e ) avta @ » @rE

w‘1|<3

A) 2,8,5 ~
(B) 2,8,7
/Lera,s
(D) IFH & ¥ T ¥ s
(E) W%ﬁ%aﬂéqﬁ \

(/d aﬁaaﬁaﬁ%ﬁaiﬁ@aﬁyﬁma
ST Y I S AT et B
g %

o

(A) ?rsamn‘gﬁwﬂ% B, sv

By e w-<herd A snmz
(©) 7 < @ 2

(D) wﬁaﬁﬁﬁ@ﬁm
(E) wﬁ'ﬁﬁéaﬁ%q‘é‘f

119. Fﬁ%%mﬂﬂ?ﬁmwﬁﬁmﬁ%m
Frferfm & -t faftr v 8 7

/m)/ e 6t wa @ Eﬁf
(B) Ue &M
(C) I\ e s
(D) mﬁmﬁﬁ@ﬁaﬁﬁ
(E) wﬁaﬁﬁﬁaﬂéqﬁw
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120. =1 & @il H) G % oA F

121.

122.

8l ST 2

(A) S oz

(B) wlg fawm
_jef

(D) 39 § & T @ Al
(E) 39w 8 | I3 T

afe B H g=H 1500 Fecimm &,
R 1 3 30 fret war ! & 60 forft BT

% TgH % T &1 HE ST BT ?

(=& [u]
Tl

(A) 156650 J
1B¢1/56250J
l (C) 800J

(D) 39 H & TH & 31l
(E) S # & HiE &

foret g 1 fRR 9 W w9 W F
T v 5 @

)m/ggaaa

(B) =¥UT &
(C) TECTRYY S
(D) 39YF o § wF ¥ IRk

(E) 39w o & 1% 7 ELE
El?q';f

[ P.T.O.
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123. The phenomenon due to which the 126. What is the common name of
sky appears blue 18 QQ:% calcium hydroxide ?
OPe (A) Lime water
(A) Reflection (B) Baking soda
(B) Dispersion (C) Slaked lime

(D) More than one of the above

(C) Scattering
= (E) None of the above

(D) More than one of the above ) ] '
127. What is the function of meristematic

(E) None of the a‘bove tissue in plants ? HXE
(A) Growth @‘2’%
(B) Protection
124. Which of the following is not a (C) Support
physical changeg;?"’“:‘z (D) More than one of the above

(A) Dissolving salt* in water (E) None of the above

1 (B) Burning of COal
e 128. The SI unit of work is
(C) Melting of ice
\ s (A) Watt
‘ (D) More than one of the above
[E][=] (B) Newton
1 (E) None of the labove iy

L S

(C) Joule

125. Which of the follow] ng statements (D) More than one of the above

about permanent trssues is correct ? (E) None of the above

(A) They are capable of rap1d cell
129. Which of the following is an EE

division 2
. unsaturated hydrocarbon ? "E*«'EL-}.‘

(B) They are only found in young (A) Ethane =
| plants (B) Methane
: (C) They lose the ablhty to divide (C) Ethene
(D) More than one of the above (D) More than one of the above

(E) None of the above (E) None of the above
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g3, T8 e o HROT S e fowrd

aaT % . Elal
(A) TR T W& Eﬁ?
(B) ST H e T

/@(WEFIW%{ |

(D) I9gF & Th 4 I
(®) v 3 & Té’f

124. ﬁmﬁiﬁﬂﬁﬁaﬁﬁ-mﬁﬁmqﬂaﬁ?
e Lo
(A) TR 8 T e
(B) P T
() ¥ & fraer
Mmﬁawaz‘gﬁm
() Wﬁ@aﬁ'g?ﬁ

125. Tt S A ﬁf““" 7'?"@“ LR
Py TE R 7

Waasﬁaaﬁmﬁﬂmﬁﬁ
a&m
B) 3 et e et T I
©) 3 faifor ek 1 & S 3 E
prgmiaw i G
E) IRjF o & S T
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126. e FgiErE T A TH e 7
Coo?
(A) Feg
(B) afeh HIeT
(Cy T AT LT
(D) 3w & T & A
(E) wﬁaﬁﬁ@l'ﬁgﬁ

127. qﬁ%ﬁfrﬁaﬁaﬁwmmww% ?
El?-"El

Sl

AP 3T T
() e & & I T

128. ®@ H SITHE &
(A) T

(B) AT

s
(D) m{fﬂﬁﬁ@ﬁm nﬂr#
(£) I & & BIE TR
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FIESIHEA 8 7
A) ¥
(B) e
ey i
(D) 3T # & T @ A
(E) I § @ I8 T
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¢
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130.

131.

132.

133.

Which of the following constitutes a

food chain ?

(™)
(B)
(©)
D)

(E)

Goat, cow and elephant

Grass, goat and human

Grass, wheat and mango

More than one of the above

None of the above

@;}%

Which subatomic particle has
negligible mass ?

(A)
(B)
©)
(D)
(E)

Lichens are sensitive to Wthh air

Neutron
Proton

Electron

More than one of the above

None of the above

pollutant?

(A)
(B)
(C)
(D)
(E)

Methane
Carbon monoxide

Sulphur dioxide

More than one of the above

None of the above

Butanone is g four-c-
compound with

(A) K-

7Y
: H-L’“

134.

135.

136. w-

Which of the fo
hormone ?

(A) Cytokinin
(B) Gibberellin
(C) Auxin

(D) More than «
(E) None of the

The acceleration
on the surface of

approximately
(A) 6.4 m/s?
(B) 10 m/s?

(C) 9.8 m/s?

(D) More than on

(E) None of the al

at happens whe

ochloric acid is
3P

reaction tak

ine gas ar

duced

' gas a
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T

131.

132.

133.

MV /M

W hich ot the following conatitutes o
oo chain

() GQoat, cow and elephant
(1) Grans, goat and human
(V) Grass, wheat and mango

() More than one of the above

OAC)

G

Which subatomic particle has
negligible mass ? e

(E) None of the above

(A) Neutron ”
(B) Proton ey
(C) Electron T
(D) More than one of the ‘a"b'ove
(E) None of the above o

odled
Lichens are sensitive to which air

pollutant? o ;

(A) Methane *

(B) Carbon monoxide I

© Sulphur dioxide .
(D) More than one of the above

(E) None of the above ' "

Butanone is a four-carbon’ "
Compound with the functlonal group

(A) Ketone
00
(B) /\ldchyde E]?—":g

() Carboxylic acid
D) More than one

of the @bove
() None of the ahoye

24-05/1L 48

134,

135.

Which of the following ig , plar,
hormone ?

-
JI4n

(A) Cytokinin E]%f
(B) Gibberellin

(C) Auxin

(D) More than one of the above

(E) None of the above

The acceleration due to gravity
on the surface of the earth is
approximately

(A) 6.4 m/s>
(B) 10 m/s?
(C) 9.8 m/s?

(D) More than one of the above

e

(E) None of the above El

What happens when dilute
hydrochloric acid is added to iron

fillings ?
(A) No reaction takes place

Chlorine gas and iron hydroxid

are produced

(B)
‘ 'de

(C) Hydrogen gas and iron chlon

are produced

(D) More than one of the above

(E) None of the above



130. ﬁﬁ%ﬁ%ﬁﬁéﬁ?-ﬁrmﬂj@mw
fwtor e 2 7 oo

e

@) w0, T s EEE
(C) U, g 3R arm

(D) mﬁawam

() ST 3 4 i 7

131. o8 SuqTmfvess o =1 gemm T R 2
(A) =EH
(B) WieH
(C) SoERH
(D) Iwdw H ¥ T ¥ aHfer
gy v @ w5 T

132. s fohd A1 uggas%aﬁr BECENIS]
A E 7 e e

(B) HTaA HAIFETSS

(C) TR SEATFES

(D) 37 & ¥ Th § AU
(E) 35w o @ Fi§ &

133. FRAH, HRITHF GE ATC TR-H1eH
Afirp B
(A) A Cq
By TfeeETES
(©) wFifFafors dfre
(D) 3w & ¥ TF 9 Al
(E) 37 5 & B T
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134, Fefefgd § & F-a1 9red g 8 7
(A) HTEIRTH
(B) frafer
e i
(D) 37 ° & T @ Al
() 37 o @ 5 T

135. e i g T IRETHIU b BT
AT 2 ClbAC]
i
(A) 6.4 m/s>
(B) 10 m/s>
m m/s2

(D) SWF ¥ ¥ Th ¥ Al
(E) IudH # & HrE T

136 1 BT & 9 g b WE H

BTESIaAINGh 3TFet oot ST @ 7
() 1 wffsan 7t At 2

By FA T 3R A EEgTRES
o= 2 3 A + Feon

(C) TEeNH N 3N I FNEE &
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ERE
(D) 3w ¥ ¥ T ¥ A
(E) ST o & Hi3 T
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: ing terms d
137. Who discovered the cell for the first 141. Which of the followlflg f')es
time ? EYE not represent electrical power in a
Av
E‘gﬁq_‘-‘ circuit ?
(A) Rudolf Virchow
(B) Anton van Leeuwenhoek (A) VI
(C) Robert Hooke (B) IR
(D) More than one of the above (©) °R
(E) None of the above - ; (D) More than one of the above
O40]
— f the above wﬁ
138. A car covers a distance’of 200 km in () Nom-tet the abo =
4 hours. What is its average speed ? -
(4) 25 km/h 142. Which of the following is a
(B) 100 km/h characteristic property of acids ?
(C) S0 km/h
(D) More than one of the above (A) Turn blue litmus paper red
(E) None of the abov
(B) Have a pH greater than 7
139. The kidneys in human;i gs are a (C) Turh red litmus papebife
part of the system fo E¥E
. T
(A) Respiration OFd (D) More than one of the above
(B) Excretion
(©) Nutrition “ (E) None of the above
(D) More than one of thq above
(E) None of the above - -17; 143. The speed of sound is maximum in
which of the following ?
140. Which of the following is not a E.%;
characteristic of solids ? - (A) Steel =
(A) Molecules closely packed (B) Water
(B) Ability to flow easily
(C) Definite shape l ©) Air
(D) More than one of the above (D) More than one of the above
E) N ft £
(E) None of the above‘ . (E) None of the above
L & 11 > _ L
& /MIV/M-2024-05/L 50



137. S i @ wdvw femy 6 2

A) T&% fa ok
: R CFH

_{B) WH N ofsdTais

(C) T &*

(D) ST A ¥ s T afrs -

(E) 3w o & ¥ 7

138. Qasmméﬁzooﬁsmﬁiﬁaa
m%lmaﬁwwﬁw%?
(A) 25 Tt /=er )
(B) 100 ferHt/=ren
/cfsoﬁmﬁ/aa
(D) ST A & TH B HwF
£ SEmAIBE A o

139. ugwﬁgé%a%aaw%W%?
(A) &
(B) HeIedm
e
(D) Wﬁﬁ@ﬁm
) SEF A FE T

140. fi=fied § & FH-a1 3 it foviwar
e o 28
(A) o o § 4 fpgme R
(B) @I & w&d i gl
(©) fifvsa R
p7 Swde  A o A
"(B) SwdE ¥ A FE €
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forep Wi 1 sfafafure 78 e 2 7

() VI
(B) IR
() I’R
(D) STdF # & TH ¥ HAH

mﬁﬁaﬁézﬁﬁ

142. f=fdfied § @ wF-91 TEE *1 Th
faferse Tur 2 2 %E%
mm&maﬁmmi
(B) pH 74 s &

(C) oe forgma Yux t e = 3
(D) 3TYF ¥ ¥ T ¥ 3fees
(E) 9 & @ HiE T

143. Ti=fafeqd # 9 fead sty i iy
Fftrehad Bt ® 2

o e
(B) Wt

©

(D) 37w ¥ ¥ & ¥ A
(E) 394 & & HI5 T8
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T
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[ P.T.O.

s PALEEYER S TR TEITIE. LG v



Which of the following are
environment-friendly practices ?

(A) Walking to school instead of

getting your mothet to drop you
on her scooter

(B) Switching off unnecessary lights
and fans

(C) Carrying cloth bags to put
purchases in while shopping

(D) More than one of the above

(E) None of the above ]

145. Starting from a statiqﬁaﬁry position,

Rahul pedals his bicycle to attain a
velocity of 6 ms™! in 30 s. Then he
applies brakes such that.the velocity
of the bicycle comes down.to 4 ms™ in
the next 5 s. Calculate the acceleration
of the bicycle in both th cases.

(A) 1.5 ms™ and 4 ms’

(B) 0.2 ms™ and - 0.4 s>

(C) 0.8 ms 2 and - 0.6 ms >
(D) More than one of thé€iabove
,. X[

Tl
Ofatd

(E) None of the above f

146. The anther contains

(A) Pollen grains
(B) Ovules |
(C) Sepals ‘

(D) More than one of tﬁﬁéi.above
(E) None of the above

11/MIV/M-2024-05/L
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147.

148.

149,

150.

8

In which of the following sphere,
weather phenomenon occurs ?
OF0

Y
7AL
CFya

(A) Stratosphere
(B) Troposphere
(C) Ionosphere

(D) More than one of the above

(E) None of the above

Which of the following is not a vector
borne disease ?

(A) Tuberculosis

(B) Dengue

(C) Malaria

(D) More than one of the above
(E) None of the above

What happens when light enters a
glass slab from air ?

(A) It undergoes total internal
reflection

(B) It bends away from the normal
(C) It bends towards the normal

(D) More than one of the above
(E) None of the above

The membrane surrounding the cell
is called ok

(A) Plasma membrane Eﬁf
(B) Cell wall

(C) Cytoplasm

(D) More than one of the above

(E) None of the above
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) TR A IR
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(A) 1.5 rns—2 A4 ms ¢
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147. freffes 3 @ fra e d aw #
T B 2 7 opi0)
() T e i
(@ e T
(C) IRH A
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(£) I # & FE T

148. ﬁ'ﬁlﬁfﬁéﬁﬁ@l&’?ﬁ—m%&aaﬁﬁﬁﬂ
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FyEam H@ g ?
(A) %@mﬁ%mﬁ?ﬁfﬁlal%

(B) a—s'@rmzrﬁ?gsﬁam% gg-;g

149.

-2 -0.4 5 T
4By 0.2 ms_2§_0623—2 - £ 3 3 2 Ofs
© 0.8 ms. ﬁm D) Wﬁﬁ@‘éﬂm
%@éﬁﬁ@ﬁﬁ (E) 3¢§3\"Iﬁ

. . 150. S ¥ = 3 b et PEeT ¢
146, TR § T § () s e
(B) S {4 (©) CANEIR-C
() =@ T Ay s A T § A
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() 3w & ] 1

11/MIV/M—-2024-05/L

| BAO.
53

Bl T2 2. dibe 110 bl ar st o R i ISR, P ey o o T S A

e el I St Al a7 M wkl




{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }

